OPEN RESPONSE

SATELLITE

A satellite sites the west end of a lake at an angle of 58° and the east end of the lake at an angle of 53°.  The satellite’s orbit is 4000 miles above the surface of the earth.  How do scientists measure the length of the lake? Calculate the length of the lake.

Learning Targets
GH1b1: I can find the sine ratios of acute angles given the side lengths of right triangles.
GH1b2: I can find the cosine ratios of acute angles given the side lengths of right triangles.
GH1b3: I can find the tangent ratios of acute angles given the side lengths of right triangles. 
GH1c1: I can use trigonometric ratios to find the sides of right triangles.
GH1c2: I can use trigonometric ratios to find the angles of right triangles.
GH1c3: I can use trigonometric ratios to solve real-world problems.
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